 MALO- \l/s aw— Calte): |- 22
‘ Peview -

 swl)= -’/c-, ‘vwf X

sec (¢) Al (= ¢ IZ/U.

CeA'l4) 4 SInTI4) = | e ¢£3%
Stnce (¢_¢c1'))$m('ﬂ) W\eoms,
one on wmoferrele . Conll) Sney ))
2 udofond I
autel+ () = ‘“7
Ca(€ )40, Smef) <o




Smae  SeLf )= A
Secd )= 4\1/“) ' N

e
Fd  si/(Sin(21))

L -(;«Q [-17%]

SCW(E )= Stn(aT)
N




| ‘ Fomlk | '%, = 3{@-_2_
Pt e befee, Yig ~

tre ﬁ‘"] I‘J:D‘,‘X:o} E= $lm-'(3'@‘.)
| e Wpo&‘hv-e.x"%(s te C-J:'( Vyr)

SR L A £ SRy

Sxt= | —

R VI
-x.,;\/"




~ For ¢ *V?""Yk

i
i
R

B

W
i

&= %‘/ =5
bt

Tl e Meani Si ler b

orfse. '8




B= (g0-(hic)  Thewajer ows Mipe

16 o T «-X/S H

~ |34, 1oy ,(4 &’Sm‘ 0.

R The mpdl 0SS

y = G CA«/’M(O,O)
A m(‘u 7:444‘7'“_
o - -

$S A -W Row -{ S/t

Sinrh N sm(B)
& " b




 Sluatst "Q'(f“ 7¢V~A~L

E7c~fﬁu g
L 1S L, Sox $ ot 72
f{%; =, g J ' ;-—S‘Z
b o’ 28( Y%+ 2x +1)
L
” "-5;;:( +ﬁ(72-‘3'3+“) =3¢
G- - 125
=g 25 (Y41)* L +fr
1(.14 L *1(74) =22
v 2y L
25 QX-H) &
23¢ ‘%’ =1
(2#) 2







